1.

Oa= Al 2.

19 19
1— 2—
w 24 @ 24

19
3=~
@ 24

9
@3ﬂ




2.

Oa= Al 2.




3.

2 6§kg } %kg B

B e kg

]






5.

Pl HollA stuztz o] A2lE 3

& 7}ok Gu7H

2 23 11

2- k 2°° — k
@ 33 m @) ?g m ©) 320 m
@ 4= km ® 5— km

60 60



5 57
8 9

1
b 3 b
12

3 7
1%

® 3



3 2
7. Aot 4z 3§cm,2%cm,65cm,5%cm‘ﬂ&1Eﬂ°]£47H%

2mm 4 A EE sfo] o]gl5Uth 4 0] A o] LT B o]
A ] Lol T L.

a =N cm



pacs

7 [e)
=t 0.75L 2 A5Yth 1E L 9

L
29 Lo BE o Folof /b5 A%



27} 7o) 20 7 o] E4E A 2 5058t Utt. o] E4E FollA
SFRAFETHO] 2h2 duldy7p?

123 18 19 20

8788 8’8’8




olrgr o
2 AT

gto &2 et 1 gt o ot

T2

S

258 3719 BeRsel

587

10.




